aRNE

Missacco

NISSAN ALTIA CO.LTD. =0 &= 10 B

s wl v e
(K&EAR Z T

Ny O s O

PILT47 RN HtE




08 0L NY

STl
®\, -
L

b4

6 ; I

L~

BHREERRBFEW 14 e

£
B




A< {4

(NE 1 ] CM7060
%5 E. D. P. A-h-EBERI-b BB % 3 ¥ il G =
1 OW-33 FEdER Ak 1
2 102-AT60-25 | EHEt 1 AT1/4X 60X 25Kg
3 103-155 EER T 1
4 104-1/2 FU Uik 1
5 105-1/24 T h 1
6 106-218F ET ) 4
7 107-22 BRI S 1
8 109 FEFBER 1
9 110-1S IR 1
10 113-3 BEEBEE 2
11 BEEH 1
12 114-BC-5 ~U N 1 Nal3, 14, 5% & Ls
13 115-BC-5005-110 | ~ /! B iEE B 1
14 115-BC-25115 | ~U FE=iEEE 1
115 115-BC-100110 | ~U FESiG& L 1
G 116-3A-4 1/2 | =EpEE 7 — U — (60Hz) 13-4 1/2
! 116-3A-5 EENE T — U — (50Hz) 1 A3-5
17 118-1/4 ALY TANT 1
18 118-1/2 A by TANLT 1
19 120-1/4N ZoS h— AMTF 1
20 120-1/2 T h— AT 1
21 121-A-72 VAU R 3 A-72
22 122-5/8CuT-460 | B45E 1
23] 122-5/8CuT-1250 | 658 1 .
24 123-5CuX3/4 | (EHEE) P ad v/ b 3 No25, 26 % & is
25 124-CNX5/8 | GEMABER KRS v b 4
26 125-ERX5/8 A=) —F(-b) 4
27 126-FN-5/8 T EAE 306 No.22:74 No.23:232
28 120-CM7060 | $34% 1
29 133-1 BE<— Y 1
30 134-16-670 | FEHRAEAZE 2 — 2
31 135-20-1050 | BB — K 3

I ERR
E.D.P.

T > TRAZEEDP. BECTREICET,
ZEQEVIICOVWTRBBRUER L A-1-E&RI-} G-p-ER1-0 OBOHRES) K TRERVET,




N
BEeiERBFEM

15
14

13

19G1a)

@9

09 02LIND

\_1'1




= S S

(X% 2 ) . CM7060
=B B. D. P. | Ah-#E1-} & 2 # 1 T =
34 138-1/2SL APY—bhTLR 1
35 138-3/4SL ALY —=bhTNR 3
36 140-1/2Cr 7 1A 1
37 142-1/2Ni —v T 1
38 143-1/2LNi-50 | R=w 7L 1
39 144-1/2X1/4Bu | 7w v 7 2
40 148-M6-16 NEANL b 6
41 148-M6-20 AR B 1
42 148-M10-25 AR b 4
43 148-M10-38 . | AR b 4
44 148-M10-45 7SR b 4
45 149-M6N NAF v 5
46 149-M10N SNAF v b 12
47 150-M6W VRS 7
I 48 150-M10W S 12
o] 49 151-M10SH NIES 4
' 50 111 U —AARLT 1
52 132-1/4CuT-300 | XA 7 1
53 124-CNX1/4 | GEEER)RS v b 2
54 130-SE-1/4CuT | BB LA 1
55 143-1LNi-100 | R=v 7L 1
56 125-ERX1/4 [ B—LAY—=7 (-} P
BREry b 1 Sets
(/j‘x 2 VN E VI SRS S Y )
oM
Epﬁiﬂ*%ﬁ%‘t w b 1 Sets
(7&& MO LY Tad v Ry ;)
J- MY
o HRRECY > TRBBEEDP. B TRI. K0ET,
ED.P. B2E0EVHICOVWTREZROER LA-1- BRI} (-1-EFR1-F OBOHIRES) S TRERCE T,




9% A F# :
tage) Suction Valve

(28)

SO @A
INRRC/Z2
L@S&

;
(@)

il
3

|
12

BXL;\% (0)

17\




a4 (OW-33D

CH7060

[H& 3 ]
S E. D. P. A-h-EhEha-b AR 2 R ¥ il i
1 301-3CR 2509 — R 1
2 309-0G-2 HEET 1
3 391 Wik &AL T 1
4 393 WKE Xy v TNy XY 1
5 392 HEE Xy v 7 1
6 314-3SiC YA FH N — 2
7 315-3SiP A DA A R v 2
8 364-M6X 15 INERIL b 16
9 377-M6W YpE S 16
10 304-3CS VA 1
11 310E-3BrC ] 1 End Side
12 311E-3BrP i A A a 1 End Side
13 370-M10X30 | ARARL b 4 End Side
14 379-M10W S 4 [End Side
15 305-6206 % 1 End Side 6206
16 312-2 FHO 1
17 313P-3BrC B2 1 Pulley Side
18 311P-3BrP RNy ¥V 1 Pulley Side
19 370-M10X 30 AR b 4 Pulley Side
20 \ 379-M10W FEE 4 Pulley Side
21 305-62062 Bz 1 Pulley Side 62067
22 307-3FP T5A4A KL =T —1) — 1
23 308-1/2PK F— 1
24 373-M12X 35 AR b 1
25 383-M12SH EhES 1
26 302-23CY YUK — 1
27 322-3CYP SYUR =Ny FY 1
28 370-M10X 30 AR 6
29 379-M10W S FEE 6

¥
E.

A
D.

IR T W 5> TR ZEE D P BFCTRA AVET,
P. BEDOEVIC DOV TIRFRBRUTRR L A--Efm1-M O=-p-E 2N OEOPIXES) K TREFHEVE T,




CM7060

JE

(16 (ot % 78)
Single Stage) Discharge Valv

(25%) ot H #
Two Stage) Dis

(om) WmRAE -
{{ [}

93 4 N\101

)

)

- CIEy

\
i
PODE

17Y08 X21 @5




IEfEEEEA<Id (OW-33D

(X% 4 ] CM7060
ZE E. D. P. | A-»-E#&EI-F AT % H ¥ # i

30 323-5Pi YAV 111 Bfal
31 326-5PiPn EAMNIEY 1|1 Bl
32 327-35nR AFwTYT 211 Bff
33 324-5PiR AN YUY (BEHY VD) 2 {1 B2 fR
34 325-5PiR-0 AN YUY &Y V) 1 {1 Bxfl
35 323-33Pi ANV 1|2 Exffl
36 326-33PiPn PAMV/EY 1 (2B
37 327-33SnR AFwTI VY 2 |2 Bl
38 324-33PiR AN Y VT (BEAHY V) 3 [2 Bfil
39 325-1/4PiR-0 | A MY Y VY QEr &Y VD) 112 Bl
40 306-3Cn i 111 B
41 317-3CBu s yTva 11 B8l
42 318-3PBu PAMNYEYTwVa 1|1 ExfEl
43 306-33Cu IS 1|2 Exfl

'l 44 317-3CBu PSvHIUTya 1 {2 Bl

°|° 45 318-33PBu FANvEY Ty oa 1 [2 Bl
46 385-M18X51 | iR b 4
47 394-M8FAW V& 4
48 320-2 A A F FiFiE 2
49 396 HhRal 2

150 303-33Hd YR =~y K 1
51 328-33HdP Y R =~y KAy F U 1
52 371-M10X57 NAEIL b 8
53 339-1/25eG-1 V—bMHAT v b 1|2 Byt
54 335D-1/2Se HEFY—b 1 |2BfitHf
55 356-1/2VPt-2 S 1|2 Rkt f¢
56 357-33VSp BATYVT 1 |2 BRS¢
57 359D-33PGd HERILV—HA K 1|2 Bl
58 389-1/4X13 INARL b 1|2 Rt H f
¥ RRECY > TRBBREEDP. BECTRLMVET,
E.D.P. EEQEVHIC OV TRAEBRUCER L A-p-ER2-b G--EER21-b ORI ES) CTREFVE T,




CM70860 o B K K X%E b

p
Eg ‘. _ T
HiT
N h @
: ]
E __‘L__/
z Q
)£ Y (s
~
‘ o)
::\
S X3 XBXBXRYH)| (2)&
B




FEfMEREEA{4 (OW-33)

(X% 5 J CM7060
%5 E. D. P. A-h-Egha-p T % #H ¥ 5 &
59 331-330d-2 | HEFE—LF 1
60 338-1/2CpG vy T HATrv b 1
61 333-1/2Pu Fh—)U NH#E % 1
62 332-1/4Cp EF¥r v 1
63 3585-33PGd WrfHF IV — b HA KN 1 [2BAAR
64 357-33VSp HBAFY) Y 1 |2 B fRaA F¢
65 356-1/2VPt-2 | T L — b 1 |2 EBRBIVRAF
66 339-1/28eG-1 | Y— M H AT v b 1 [2ERRIBAR
67 354S-33Se A F > — b 1 |2 B A
68 403-1/4N | SAaF v b 1 |2 BRBIRAF
69 331-33Hd-1 AR —IV K 1
70 338-1/2CPG Xy THATrv b 1
71 333-1/2Pu fFE—L P 1
72 | 332-1/4CP FErrvS 1
F173 339-3SeG V— b HAr v b 1|1 Bt f
: 74 355D-3Se HHfF—b 1 (1B A
| 75 356-3VPt £7U— D 1|1 B {Rnt H F
76 357-3VSp AT VY 1|1 Bt
77 359D-3PGd HHEFESL—bHFAF 1|1 Bt
78 390-M9X 14 INAANL B 11 it
79 331-3Hd FAR—IF 1
80 338-3CpG HERFr Y THATv b 1
81 333-3Pu fAE—L Nz 1
82 332-3Cp HERFrYv 7 1
83 362-2 Brfr s — bEZINAL T 1|1 B fins F
84 358S-3PGd ATV —MHA K 1|1 BRIRAf
85 357-3VSp BATY VT 1|1 BREIEAR
86 356-3VPt 7L — b 1 [1 BRERAF
87 339-3SeG S— b NHAFr v b 1|1 B F
T BRREC Y > TR EEDP.EBCTRF AVET,
E.D.P. EE0E VIOV TR B AR OCER & A-p-252-F (Q-1-EH-M OB/VPRES) CTRERVET,




. CM70860 E o8 K B & 6

(2m WRAH
Two Stage) Suction Valve

@

93X 94)\10!

(16) (k& 7#)
Single Stage) Discharge Valve

(25) ot H #
Two Stage) Disc

_—12_




EfEAE A4 ((OW-33)D
(X% 6 ] CM7060
EZHSH E. D. P. d-h- a1 BB 2 G52 ¥ ] fi %
88 3545-3%e WA F L — b 1|1 EBRIEAR
89 360-3 WAf TV — b2 111 BRRIRAF
90 361-2 7rva—X—Y A b VERAX 1|1 BfA S
91 405-3/8N INAET v b 1|1 B RIRA S
92 331-3Hd FHR—ILFK 1
95 347-3RPn YyIR—-E Y 1
94 346-3RCp Vo R—Fxv7 1
95 353-3/4DF A 5B 1
100 350-1 ) 7 3 —HF 1
101 351-3 ) 7R —HFL Y 1
S501-SV-3 C1ERED BARALTEY b 1 Set & 83~91
Mk )Lk TAR LI TNII T T L b IRGA Tt
(ll&}«‘_x FIOLMM A crun TR N )
L WA FE b AN AT A b AT AN /
w
| S501-SV-6 (2B WAL T Ly b 1 Set X# 63~68
(n&g& A R R A A N AN LA r)
ME A SRV b N b b s BET A b
S502-DV-4 (1B HEHALT £y b 1 Set XI&E 73~T8
S502-DV-7 (2BAD HERALTE Y b 1 Set & 53~58
1SS s I A VRS N/ A (R N~ B AR S <= A B IV B
TR S el (I N S SV ¥ R & O
I |

¥ SR RECY > TRAREEDL. BB THLHAVGET,
E.D.P. BRDEMIC DOV TRERBROCHR L A-p-E&FI- Q-1-F5R1-b NP ES) C TRERVET,




M &

£

CM7060

ng NNC ﬁ@ @@ Bl @
| ?h—. ..4 :..:

—

anep uonong (3Beig om)) .\
S $ ¢ W (3T @ .

101\t6 (56
d (vL
(st ]
9L ). —
LL
aL
(e
Ow, —

€S
X (s
< il Ll @
B AL -~
_.\.o. 1 \\\
- -
65
o3
19
amup sBieyosi0 (3BEIS ABuS)  @nep sRieyasig (3BEIS om1) /
B ¥ WP (BT) 29

T m Fo) o (8D

_—14_



FEfEBE =14~ (OW-33D

(= 7 ] : ; CM7060
=5 E. D. P. A-h-EEha-b A 2 #H ¥ # ] =1 :
S503-Pi-6 (1ERED A bPvEwy b 1 Set X&E 30~34
S503-Pi-8 (2EBED FAMYEy b 1 Set K& 35~39
t"ZkJ\HZ7}u;U"xMiﬁ%UJO"\t“Zth’3>
Liwdyyh”
S505-MU-4 FE7 o—X—EBLvy b : 1 Set X 93~94
U a—E v U ket Y-l N g- D) KZ 100~101
S506-PiR-6 . (1D APV VT EY b 1 Set X&E 33~34
S506-PiR-8 (2B ARV Y VT LY b 1 Set X#&E 38~39
CHe FL 8 sl vz ) |

T BRRECY > TIXAKLEDP. BB THRERVET,
E.D.P. BB DEMIC 2 W TR RBERUER L A-p-E5R1-b Q-2 R2-) OB HEES) CTREHVET,




